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TNSET 2024
Module Name : General Paper
Exam Date : 06-Mar-2025 Batch : 14:00-17:00
Sr. No. General Paper
PAPER I

Compare the methods of teaching with their meaning :

List - 1 List - 11
(i) Demonstration method (a)  Atfitude of discovering
(i)  Heuristic method (b)  Visual presentation of the

action and activities
related fo facts

(i)  Project method (c) Provides opportunity fo
analyze and solve

(iv) Problem solving (d) Problematic act carried
method fo completion in its

natural setting
Choose the correct option :

LlesTeu (LD SMLINSSHED (PemmaEeneT eummlet GlLmHGerT(h G@enswrdH)(Hs.

uLigwiev | UL igwev |l

(1) O&wug &sri{Hb Wweom (i)  &60T(HSlg8 (&L LOESTLILITESTENLO

(2) 2 6TenmihHS (PO (ii) 2 _6BOTENLOG6T GIGTLTLITEDT
GlFWw6H MHMILD
Clawesvum(haserflsir smid
e9l6m& S 1D.

(3) OlEWeSHILL (pemm (i) uGUUTLeY ClFWIg Si&EW
SUMILIENL 6ULPMIEGH S MG,

(4) H&E&L FTSH G WO (iv) Ulrggemens@iflu ClFwensy
gggﬁr @u_lsi_)urrsm SemoLILs0
CEdig) (P1yHS60.

gflunerengsd Carea| Clawis.

Az ()-(b), (iD-(a), (iiD)~(d), (iv)-(c)
1-(id), 2-(1), 3-(iv), 4~(ii)

B: (i)-(a), (iD)-(b), (iii)-(c), (iv)-(d)
1-(i), 2-(ii), 3-(iii), 4-(iv)

C: ()-(d), (i)-(c), (iiD)~(b), (iv)-(a)
1-(iv), 2-(iii), 3-(ii), 4-(i)

D: (i)-(c), (iD)~(d), (iii)~(a), (iv)-(b)
1-(ii), 2-(iv), 3-(i), 4-(ii)

Match the levels of teaching :

List - | List - Il
i)  Memory level (a)  Cognitive field theory of
learning
(i)  Understanding level (b)  Gestalt field theory
(i) Reflective level (c) Thomdike's
connectionism

&SMLINGSH60 [HlemsuasmerLl blLIM(HE5S)5.

uLigwisv | uLiguisv Il
(1) Hlemsorey fHlemev (i) aa{bgéaﬁlei?rglgsurrﬁjmsh
Lev GamLum
(2) uflzev Hlemsy (ii) g&.sfpl_rrgf_ L{6v
Sl
(3) Urdluediiy Hleney (i)  BmyevoTEn L &&lesr

ElenemTliL g Gamium(p

gFiflwmest sfl(pLLS CaTallemen G&iTHolSH([HlGSHLD.

A (D)-(c), (iD)-(b), (iii)-(a)
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1-(iii), 2-(ii), 3-()

B: (i)-(a), (iD)~(b), (iiD)~(c)
1-(i), 2-(ii), 3-(ii)

C: (D)-(c), (iD)-(a), (iii)-(b)
1-(ii), 2-(i), 3ii)

D: (i)-(b), (i)-(c), (iiD)~(a)
1-(id), 2-(iii), 3-(i)

3 In the hierarchical order of learning and acquistion of behaviour learning denotes a higher type of learning.
&HMHM6L LDMHMID BLSNS Q& W6 G weumniler Lig Blenev auflensuiev &MHMEV 6TEITLIGI 6(H 2_LLITT 616585 W T6oT
HHMMVE GMIERMS.

A: Problem solving
FE&o6 GILILS
B: Associate learning
Tl (& &HMHM6V
C: Concept learning
BHSSI HHME)
D: Verbal learning
amiuQWmd s&mhmey
4 In 2006 urged to create the synergy between education and research in higher eduaction institution.

2006-@)6L 2_Wisevel BlmialersHev &eallé@h oI TiIFRESGWD @) 6L G 6(H MG 6T 2 (HauTdhs a6 nSH g

A National knowledge commission

CHAW 3M6) 2,60600T WLILD
B: Hartag commission
QamILMs G
C: Kothari commission
CaTHSM GW

D : National policy of education
CHHW Heveils Q& TeTen &

5 In the mode, the teacher assumes the role of facilitator of teaching experiences and arranges conditions in such a manner that students raise
questions about a topic or event.

WileL LOMETOTEU T & 6T HeMmEULIL| 2J6V6V I Bl&LD6 S GM &SI Co6TallaemeT eTWLIL|LD alem&BUN6, &MLNGE6 2 eILI6IMnIg 6T
LMHMID gouUmd &ener er6rlgmas@Leufler Likiens G Wl euB &R .

A: Expository approach
elleé: & 911G W
B: Inquiry approach
26| SILVISPOM
C: Enquiry approach
&l & T 76016007 600 & (LPENM
D: Impository approach
D& T60)600T WLIT60T 3|00 (S (L6D)D

6 Time and motion studies are examples of obseravtion.
GHILD LMHMID @uISELWD LMW U6 &He6T 2_MMIGHTHSHNGHSHTET 6T(H&H SIS TL(HSH6T.

A Simple observation
ererfl 2_MMIGHTE&H 6L
B: Systematic observation
LPEDMUWITET 2_MMIGHITE &6V
C: Uncontrolled observation
SLEUUTLMM 2 MMIGHTEHSH6
D: Mass obseravtion
Q6UG Q60T 2 MMIGHITE 560

7 Two Statements, related to scale construction techniques are given below :
(a) In consensus approach, a panel of judges evaluate the items chosen for inclusion in the instrument in terms of logic relevancy.
(b) Cumulative scales are chosen on the basis of their conforming to some ranking of items with ascending and descending discriminating power.
Select the correct options :

jemafl (b &L (HILDMeoT B LIMIGHET Q&ML LT @ Tevor(h Ml&Hen&H 6T GG Q&m(H& e LILL (h6TereoT.
(a) @BLIISS 31801G MUy, @1 BH LB SH6T G HHeaNS6T CFFESLILIL L SHem6eVLILIS6M6T H606VLIL| QLIT(IHS S S 60
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g LiLemLulev HLILTEH QFLRME.

(b) 3B &f&EGD HMID GeMmMBSEUHLD LTGUTLGH FHH LT Falgwl Flev auflen&LiLbh & 5608 6h 5 E ©)600T i@ 68 60T
S LiLemLulev L (h QLTSS 3i6meS6eT G5 H6S M) & 8L 1LI([H &) 60T M 6oT.

Fiflwmer a@GLILG CoHTeNeners CHIHOSH&E&HALD.

A: (a)Only
alol(HLd
B: (b) Only
b L GHID

C: Neither (a) nor (b)
a WD @6Veme6v buLh @)6Lem6y
D: Both (a) and (b)
a LOMMILD b @ Fevor(HiLd
8 causal-comparative Research is also called as :
Frgmyent UL (G g liuenLuleumer ey 6TauTE LD Si6m P& LILIGID.

A: Ex-post-facto Research
QUUILIAUTHET QeuaflLiLm@® ayUie]
B: Correlation Research
QBTLY 2.6y Bleney Spllliey
C: Experimental Research
CFMHEMEIT LG LILIDL 4,16
D: Longitudinal Research
QFBIGSH S BlemevsCHTH U6

9 If the Questions on the interview emerge from the immediate context and are asked in the natural course of things, then it is referred as interview.

GBI TeuTed60 2_6iTem CaHaTel &6, 2 L 6orlq @& Lnedlev @ hhE! QeusflliLL (B @uievLimer CUTEHR CHLGLILILLITE, 35
GBismenTey eTedoTml GMIILNLLILGH mE!.

A: Standardized open-ended
SILUGSSUIULL BDHS Wige)

B: Informal conversational
(PEMEFMTIT 2 60 WITL6V

C: Standardized closed-ended
STLLGSSULL epgWwl (N6

D: Closed, fixed response

LOLY.ULI, [B]60Y6VLLITEOT LI 6V

10 The term 'Action Research' was first used by !
QWG QLT TUIFR 6T60TM QEFTEV (LDG60T(LD & 6516V Q60 LWeTUBSSLILL L G

A: Turney and Robb

Leofl Lo mid Gyl
B: Stenhouse

GVGILT6EIT M6 6N
C: Kurt Lewin

S Qevaileor
D: John Dewey

sgmedr Gudl

1 Writing will need to meet a number of requirements to successfully pass the readability stage
They are
(i) Sentences must be well formed syntactically
(ii) Sentences should not be below a minimum length
(iii) Recursion must be kept to a minimum
(iv) Choice of words should invary
Choice the correct answer from the options given below :
am&LIL Bleneuenw QaummM&EInNs &L &8 61 S LI CHemal&semerl LTEEH Q& uiw Caleor(b.
(i) UMSSH WMHIG6T QST FHIWIMS H6TE el el s LUILL Galeuor(®ID.
(il) UTER WS 60T HeTHemns GmMBSLILF jeTenel il GMM&EHE Gal MG
(iii) LMY B1&HLDE| GMBSLL L FIOMEHS GHenmEsLILL Geuesor(h L.
(iv) Q& TH 66T G556y LDMMILIL &8n L M.
6 Q&EMTH&sLILLGaTaTammle @ Bha FFlWTT QSTLmIS CHT6] Q&I LD.

A (i), (ii) and (iii) only
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i, ii, LDMMILD iii LOL_(HILD
B: (ii) and (iv) only
i LDMMILD iv DL GID
C: (ii), (iii) and (iv) only
D: (i), (iii) and (iv) only
i, iii, LDOMILD iv DL GHILD
The study of space and distance in communication is :

QaTLILIWeN6L @L LD InMHMID STTSS 60T 2yU16) 6T60TLISI

A Relational
Q&ML enLWSI

B: Illustrators
ellemd: & SHeiT

C: Proxemics
@Lailwe

D: Kinesics

2 Le@umfl

Given below are two Statements.

Statement (i) : Team writing means people getting together to plan, write and revise writing projects as a group or team.
Statement (ii) : Another name for this practice is collaborative writing.

In the above statements, choose the most appropriate answer from the options given below.

Q&EMH&SELILL G 6TET @ T6tor(h) FoMMIGHET:

G M0 G TGS 6T6TLISI DESH6T R6TMI Folq UL AL D), 7S, TWRSSIS B L EGE6T R0 G LS 3|6ufls
QBTGHWTE H(HSSID QF W LNEHMWTESLD.

Gl 1I: QHS HEML(LNMMEG G 6TRETT(IH QLW Sal (b 6T(WDSHS! G LD.

BN S mmiGerfley, ECL QEMTH&&LILLHeTeT ellLiLEIGeflev & e b QUTBSSDTET 6Ll
CaIHOSH &6 LD.

A Both Statements (i) and (ii) are true

@uetr( SIS EBLD (1) LHOILD (1) &Fifl.
B: Both Statements (i) and (ii) are false

Qe Fo.HDISHEBLD (1) HDILD (IT) Heu L.
C: Statement (i) is true but Statement (ii) is false

Famml 1 &1l 9LeoTTeL Fammi 11 Seumi
D: Statement (i) is false but Statement (ii) is true

Fa MMl 1 HEUMI SLETITEV Ga DM 1T &if]

When the media inform us about threats from terrorism, hurricanes or volcanoes, depressed economic conditions, increasing inflation or military attack is called
EM|_&MIG6IT HLO& G LIWMISTEUTSLD, L6, 6Tfllnemey, QeulgLiL], QUITHETTSTT L0hS Blemev, & lHGID LietTaidsssh
VLG @ TITEIC &THEGSH60 CLIMETM F&HMISHVSH6T UMM QsiflelliLug.

A Surveillance
55600155 Moot 1111
B: Instrumental Surveillance
&N WI6L 55600TG MevotILILY
C: Beware Surveillance
18 Ffl 5608 560018 Mevol 1111
D : Public Surveillance
QUITBILD &S 6T &600T& M6o0t1LIL
Unfocussed interaction is coming under

HEUGTEF FNHM6EL QSMLIL] 615N G6T eUBRMS?

A': Intrapersonal communication
FHETERIET QS TLFLIWE

B: Interpersonal communication
LNm@LeoTmest Q& TLFLIW6v

C: Computer mediated communication
gevofleof] 2amL_8 QgL LN w6y

D: Mass communication
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IN0&&6T QS TLTLIW6L

16 The sum of three numbers is 176. The second number and the third number are in the ratio of 4 : 15 while the first and third numbers are in the ratio of 1 : 5.
Then the first number is :
PLNGOTM! 6T600TES 611 60T S (DG Q& Te0I S5 176. @) [T600TLITEU G 6T600T LOMH MILD CLOGOTMITLD 6T600T 4:15 6160 6N1GH S 5T 6V _6iT6ITeor. (LN&H6V
LOMHMILD CLOGITM UG 6T600TE6IT 1:5 eTedT) 1S S5 H60 2_6TEITeor. (LG 6V 6 S 6T600T 6T60TeoTel M8 U (B &5 (& h?

A: 18
18
B: 24
24
C: 32
32
D: 36
36

17 A person travels equal distances with speeds of 3 km/hr, 4 km/hr and 5 km/hr and takes a total time of 47 minutes. The total distance is :
62 L0601 B 60T FLNGTTEHMS 3 &), LS/1n6vof], 4 &).15/106v0f], 5 &).15/106001), CoudHSH 60 QF6dTM) &1L 88 47 BILAL 186 6T(h & 5 60T M medr
eTeuflev, QOMG S ST &).LSLC L flev

A: 3km
368
B: 4km
4 6118
C: Skm
5 &1,
D: 6km
6 6.5,

18 The population of a city increases at the rate of 7% annually. If the present population is 22, 898. What it was 2 years ago ?
(b B&HTSH 6T LDHHET QBTN 7% i 5T 60 AHHHEHMSI. HFHELTMSW D& 6T QGHTend 22,898 61601160 @) T6v0r(h)
21,6007 () &6 (& (LDEDT @) Sl 6TEOTETaU TS @) (HHS) (H&GLD?

A: 18,000
18,000
B: 20,000
20,000
C: 21,200
21,200
D: 22,000
22,000
19 If 8 men can do a work is 4 days then 2 men would finish the same work is days.
8 gg,sffurase'ﬁ RO Gauemeauenil 4 BT &6fleb Q&R GTMET. 6160l 160, I1B5H GEUEmEVENILLI 2 IL,600T5 6T 678 %60 60T [BITL_G6fl6) QF I
W LUTT&6T?
A: 10
10
B: 8
8
C: 12
12
D: 16
16
20 The next number in the number sequence 2, 12, 30, 56, .... is

2,12, 30, 56, ... eTedrm eT6vor auflen & ulledr B\ & eTevor

A: 72
72
B: 78
78
C: 90
90

D: 86
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86

21 In the statement followed by two conclusions numbered I & I, decide which of them logically follows beyond a reasonable doubt from the information given in
the statement.
Statement : Irregularity is a cause for failures in exams. Some regular students fail in the examinations.
Conclusion : I : All failed students are regular
1I : All successful students are not regular

Q&ETHGSLILLL SGamm MMILD @) (D96 &6T I LnMmMmILD 116V, FamMleTLIY ST6E FH TS| BT FhCHHSH MG
SLIUMHULL Gl eTerr STL0Mevflé el LD,

FaMml: R(PMEIGTET alHensWlaranio Caralley CaHTFF QUMMEMLNGG R &HTFurD. Flov RHEIGTE al(HemNs Lflud

L0 menoTeU I8 6T GHIallev CHIEH GLIMIEIS 6V60)6V.

(W196Y I: TeLELIT CHTFH QUIMITS LOMEITEUJ&HEBLD 6 (LDMIGTE (B S LIfILIGITE6T.

II: 6T6LEVLIT GHFTEF QLIMM LOMETTEUFTEEBLD (PMHIGTS aU[HM& LFIWLIMSaITSH6T.

A': Only conclusion I follows
Vel I LHIGL QHEHEGLD
B: Only conclusion II follows
e II GG @@H&SH G LD
C: either I or II follows
W16 1 3|6V GI WPIg6) [l @BSHSLD
D: neither I nor II follows
P96 I DOMILD LPL96] I @ TG @) (H5 &S

22 If Sumathi is 7 ranks ahead of Revathy in a class of 39. If Ravathy's rank is sevanteenth from the last. What is Sumathi's rank from the start ?
39 LDITGUOTEU T 85606M& Q& TEuTL 62(H 6U@GLILN6L &0 eTedTLIOIT GrauFlemnil &ITL 1960 STeuflenguilev 7 (eTETT6L @) HHHMITH.
&L AN mHES Creud) 17 augl @ LSS 60 2 6TaTmy 6Teflev oL TLSH e BHS &G uller Srauflens erereor?

A: p4th
l46u8)
B: 15t
15618
C: 16th
166u8!
D: q7th
1768l

23 Statement :
All art is an imitation of nature
Music is art
Conclusion :
Hence Music is an imitation of nature Represent it by a suitable Venn Diagram.
Fo.HMIGET: 6T6V6EVIT SHeMEVL|LD @) UIMem & ulledr LG LIedlLiL]
QeNF 62(H FH6M6V
(L196): eTeTG6U @ 6MF WIS @) UIMet & Wiledr e LIT&H LIGOILIL.
@& G5 EGLD Cl6eletT aUemTLIL LD

A
Nature

Art

Music

@unemns
&6V
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B:
Nature Art Music
@umnens 860160 @ens
C: 7
Music
Art
Nature
@ens
5606V
@uwmnens
D:
Nature Music Art
@umnens Qe 656V

24 | All sunflowers are yellow. This bouquet contains sunflowers. What can you conclude ?

MG G WHTHE LL&SHEHLD LDEHEF6T BImD. @b LLEASHTSH 6 Gl &MHS L, 6T 2 6Temer. [Bhig6T eTeoTeor
WI96]5E auGeIT&6T?
A The bouquet contains only sunflowers
LEIN&ETSS G &THSE L,E&&Ha 6T 0L HCL Q& meor(hlaTengi.
B: The bouquet contains only flowers
LHIQ&HTSHS LE&Hm6T L HIGL Q& meu(h6Tarsl
C: The bouquet contains sunflowers and other flowers
LBIO&ETSS GWSTHS MHMID LDMHM L,& 56T Q& Teoor(®) 6Tems!
D: The bouquet does not contains any flowers
LBIQ&HTSSI 6THS 62 (H L& 606D Q18 MeuTLq.(H & HeIl6Vemey .
25 Medieval School of Indian logic belongs to the period .
@HH W FT5555 60T @ 60L& &6 LieTer] WITEOT &ITVG NS FMHHSSTGLD.

A: 1200A.D.to 1800 A. D.

1200 &).L9. wpg6v 1800 &).L9. euen iy
B: 650B.C.t0 100 A.D.

650 &).(0. (PB6V 100 &.L9. auemiy
C: 100A.D.to 1200 A. D.

100 &).19. W &6V 1200 &.L9. auemiy
D: 50A.D.to 100 A.D.

50 &).19. W6V 100 H).L9. euemiy

26 In a bar diagram, the bars are :
UL el ellemdaLILLSH 60 LILemL et 2AGLWD.
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A Vertical
QFMmIGSHE!
B: Horizontal
HlemLLOL L oMUl
C: Vertical or horizontal
QIFBIGHS VeVS HemL DL L LOMUI
D : Neither vertical nor horizontal
QFMIGSSID HemLLOL L LD GFeoor(HLD G)6V60I6V
27 A graph of frequency distribution constructed by plotting the frequency density against the mid-points of the class is :

a6t BO LI 66l & Eh e TH IS Bl&LDG 66T 3L TSHemw &ML (B 6T eLn6uLd 61l 6UemLN& S LILIL L B8 L 66 6sor
LIT6U6V eU6TLIL LOITEUTSI:

A: Pie diagram
el L eflemgasiLLLD
B: Bar diagram
UL enL efleTaasLiLL LD
C: Frequency polygon
151 85LD Q)61 600T LIGOT(LNGS 6U6MTLIL LD
D: Sub-divided bar diagram
Faml LILemL elemgs&s LIL LD
28 Values collected and recorded with little or no checking calculation or interpretation is known as :

Anlw Flumrliy o6vevg FFUMTLIL E6V6VITLN6Y &6t S (h Vel aNeTE &S SIL 6T GF&Ifléaa LUl L InMmmibh LG e
QEFEWWLILLL oS 56T LN6tTaU(BLO MM 2i6mL085 85 L1LI () &) 60T M 60T

A: Discrete data

QasTLIFRWMHMD ST6l

B: Continuous data

QBTLIERWITeT HJe)|
C: Raw data
Lpev Hey
D: Both Discrete data and Continuous data
(A) LHIYILD (B) @TevorGILd
29 In tabulation, refers to column headings
S| Leueneoruilev, eraTLIg QBB aufleng senevlienll GMIGER M.

A : Title of the table

3|L_L_6U6D)600T H6mI6VLIL|

B: Captions
FH6M6VLIL| & 6T

C: Stubs
QUL L MIG6T

D : Headnotes
FHn6eV GMILIL| 86T

30 The number of times a value appears in a sample is called as :

&@® LTHFluNeL T8 56T (LM @ HLIL| CHTETOIRMS! 6T60T S6MP&HSLILIG S

A: Sample
or&if

B: Frequency
18185 Lp Gl 61l 6uoT

C: Population
VWLE OBTEGS

D: Survey
&H600T&H G & (HILILY

31
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Match the e-governance principle :

(1) Data Intensity (i Datais protected from loss, unauthorised for data
quality and security

(2) Data Security (i) Each data set has a frustee accountable for data
Quality security

(3) Data Trustee (i) Datais easily fransferable and usable

(4) Data Portability (iv) Datais accurate, consistent and un-tampered

16T &y, (6ThemLD GlameTemauilenerLl GlLIMT(HSS5Is.

(1) &Uey @umenwuun() () sUeuTes @iy HmID
ungsTUSnsTs,
SnEsflssluLTs
SIgmIse5len QlHbHS)
urgsraslubhlEmns),
(2) &UeyumgisTIY (i) @euCleuT® srays
LIBsTGHUINEGLD ST6 S5
ST LDHDID SHT6Y
ungsrinE
ClurmliLimesT 6p(m
S MBISTEUEVT 2_6T6TTI.
(3] B SIDEISTEUET (i) &Ueersilglen wmHmE
Falglig| LHMILD
LwsTU(h &S5 Falglig)
(4} 275 Qanang) (iv) B Hleveblwiomeng,,
GClFwsvhHlmetr Fyments) WHMLD
G LTSS

Az (D-(iv), (2)-(0), (3)-(id), (4)-(iii)
1-(iv), 2-(3), 3~(ii), 4-(ii)
B: (D-(1), (2)-(iv), (3)-(ib), (4)-(iii)
1-(3), 2-(iv), 3-(ii), 4~(iii)
C: (D-(), (2)-(i), (3)-(iii), (4)-(iv)
1-(i), 2~(i), 3-(ii), 4-(iv)
D: (D-(), (2)-(ii), (3)-(iv), (4)~(iii)
1-(3), 2-(ii), 3-(iv), 4~(iii)
32 The application of information and communication technology (ICT) for delivering government services is :

@)60)600T LLILD eLR6ULD S TEFMBIGLD QULPMEIGD CFemMEaUGHEMETL QLIMELD, S6M6l QGTLTLITET &8 61608 6m6T QA HES Q& maTera| LD
(ICT) 2_ge|lb Lwerum(b

A E-learning
LA 68T SBHMev
B: E-Banking
LfledT eukI&
C: E-Mail
LA 60T 2 (E€H&F 6V
D: E-Governance
LSl65T 9y, EBEmLD
33 Which is/are true statements ?

(i) MP3 is used for audio and video

(ii) MP3 is used for audio

(iii) MP3 is used for video

(iv) MP4 is used for video

BLDE&HE00TLaUMMIE) _6T0T6m L0 LLITE0T Fon (DMIGHEIT 61517
(i) MP3 eTedTLIGI 6269 Lo ML ep6rf] aulg el G TLIL|&6T
(i) MP3 6T6dTLISI 6269 6UIq.61 G&BITLIL|SH6T

(i) MP3 eTedTLIGI 6perfl aUlg.6l GSHTLIL| S 6T

(iv )MP4 6T6dTLIZI 6p6rfl 6ulg.61 GBS ITLIL| S 6T

A: (i) only
(i) L (D
B: (ii) and (iii)
(i) LDHMILD (iii)

C: (ii) and (iv)
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34

35

36

37

38

(if) LD DD (iv)
D: (iv)only
(iv) DL (LD
Indian Space Research Organization (ISRO) launched an exclusive satellite called for education.
@bH W elleorQeler ouImiIFS BlomieeTd &evell&aH TS etebTm LTS GWS QF LM &HS C&MemeT eFailu6Tems.
A: ETV
FFig.edl
B: INSAT-IA

@eTEFML — 1A

C: INSAT-IB
@erFmL —IB

D: EDUSAT
TREFML

Compressed files can be in the format of
FHEHSHLULLL CHMLUILSHET GhS algals55H 60 @ [H&HSHMLD.

A: .COMP
.COMP
B: .ZIP
ZIP
C: .ZAR
ZAR
D: .MP3
.MP3

What is the acceptable day time noise limit in a busy airports according to CPCB ?
uguriumer CUTHGaTSH S CHIsHH 6V allnmer BlemeudHH 60 CPCB - @)60T (D MI& 6\ & MET6TE Fnlq Ll LIS GBI 6260 6UFLDLY
6T60T6OT?

A: 50dB
50 dB
B: 60dB
60 dB
C: 70dB
70 dB
D: 80dB
80 dB

In which valley India's first geothermal power plant was located ?

@b wmaller Wwa e Liel@eauliL g,mmey L6 Bleneullid 6THS LITETS TSRV 1em Db SI6TengI?

A: Spiti
el
B: Nubra
magmT
C: Puga
LL&sIT
D: Yumthang
eTLDG Ml

Statement I

Environmental ethic changes our role from conquerors of the land to that of a protector of the environment

Statement 11

Ecological ethics limit social as well as individual freedom of action in the struggle for existance.

&HHSSI-1: FHMF GLP6) QBN (LM ET, & MMmIF @696 BleunIGenaT Qeumml Gl&Mesr el 66T Blemey LIMSISTaIeT TS
WMHMWD Q& TETeTEF QFURMS!

HBHSHSI-2: GLeNulev QBN MEET @BLILGS T GLTTTLLEH 6 Fepd mHmLDd Geofl el &FSHHH T&HamS
SLOUUOSSHDE!

GLDM & 60T L & (1H & S5 & 6rflev

A Statement (I) and (II) are incorrect

&HHSS-1 IDHOID &HHSSH-2 FfluMeTsev6y



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

B: Statement (I) is correct whereas (II) is incorrect
&S5 S-1 &) HHSS-2 ey

C: Statement (IT) is correct where as (I) is incorrect
&S5 S5-2 &) HHSS-1 Fflcvey

D: Statement (I) and (II) are correct

HHSSI-1 OO &S S-2 & FULTeTen 6l S 6T

39 Which of the following is not a potential site for geothermal energy sources in India ?
etraumeeormnilev @bGS wimellev LieNQeauliLl SpMHmevi& e meT &M S WL SHeTld S(6V6VITSS! 6THI?
A': Puga valley - Jammu and Kashmir
L& LIGTONS &M G- MM &req sy
B: Amaravati - Andhra Pradesh
Sorras-b& Tl NTessin
C: Tuwa - Gujarat
SIUT-GRITS
D: Bakreshwar - West Bengal
L&GIeqei-GLoMm @ eUMmIGTeTLD
40 Which of the sustainable development components are adversely affected by disasters ?
1. Early development
2. Economic development
3. Social development
4. Environmental protection
Bl955 eueTIFF &8 meor < haFmigertlev etemnel CUIFIL ML B &LID LIMTHLILI L HEI6Teng?
(1) (PHMSW QUeTTES
(2) QUIMTBETTSTT eUeT &S
(3) (WHMGW aUeTTEFF
4) HHMIFSHLPE) LIMSISTLILY
A: 1,2and3
1,2 lnmmILD 3
B: 1,3and4
1,3 LnHmih 4
C: 1,2and 4
1,2 nmmiLh 4
D: 2,3and4
2,3 oMb 4
41

Match List I with List II.
List I List Il
a. The Water [prevention and conftrol i 1974
of pollution) Act
b. The Air (prevention and confrol ii. 1981
of pollution) Act
[0 The Environment (protection) Act iii. 1986
d. The Motor vehicles Act iv 1982

V. 1988
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uLiguisy I go uligwiso I 2 Lett Llum(hehs)s.

uLiguisv - I uLiguisv - II
(a) 1By (maumrligsst SHILL (i) 1974
wmmIb sLHuuT()
(b) smHm (rELTLigssT (i) 1981
(b0 LHDID
sLHuumb)
(c) &mmiEssy (urgsmiy (i) 1982
FLLLD)
(d) GTLLITT 6UTe60ThIgGsT (iv) 1982
FLLLD
(v) 1988

A a-i, b-ii, c-iii, d-iv
a-i, b-ii, c-iii, d-iv
B: a-i, b-ii, c-iii, d-v
a-i, b-ii, c-iii, d-v
C: a-ii, b-iii, c-iv, d-v
a-ii, b-iii, c-iv, d-v
D: a-iii, b-iv, c-v, d-i

a-iii, b-iv, ¢-v, d-i

42 Three years of Bachelor's Degree, for pass as well as Honours, was recommended by the .
CHIFH WMHMID GLDGEM&HEMLNG ST CLOETMI GU(HL @) 6TMhIG 66V LILL LD, 360 L sIenTsaLILL LGl
A Calcutta University Commission (1917)

FHVHSHHIT LIS 6VESHLNG ,60600TLD (1917)
B: Bombay University Act (1928)

ULDUMU L6V & en6u8:&Hn8 &L L LD (1928)
C: Aligarh University Act (1911)

SIS L SH6uSHE & FLLLD (1911)
D: Higher Education Commission (1882)

2 W &606M &6m6uoTLILD (1882)

43 Which of the following Universities were established as unitary Universities for teaching and research by the rulers of princely states ?
LN 6tTeU(BLD 6THG LI6VE 606088 0 MhIGHET &L06M0 & TeoT IS 6fl6dT oL SILIMeTF&6mmel, HMHLINGSH6) InMMID QT TULFR &M
@DHMWTLGII LIVG 608 &L08MIG6TTE Bl M6 LI L6oT?

A: Calcutta , Bombay and Madras
HVEHSHSIT, LIDLIMTUI LDMMILD G & 60T6D) 60T
B : BITS-Pilani, Tata Graduate School for social work
WL ev-Wevrmesfl, Fenas LieooflGasmeot L m UL gmifl LisiTerf]
C: Mysore, Osmania, Annamalai
DG, RENVGLOEDILLIT, )6T0T600T ITLO61)6V
D: Central Hindu College, Visva Bharati
LHHW @hg Harfl, alleveuLimyH
44 At the time of independence, in 1947 India had universities.
1947-60 @BHWIT &HSHH T 36D HHECLMS! LIV&6D6V5 & P& IS 6T @) ([HIH S 60T.
A: 10
10
B: 15
15
C: 19
19
D: 21
21
45

Which body is instrumental of meaningful partnership between the states and the centre, Particularly at evolving a consensus on the major policy issues in the
field of human resource development ?

IDMBleVBEISEHSGLD, IDSH U S|T&HEHGWD @)L U6 HTHSDETET Fal L M6 gHLG SSISNHES, GMILILITS L6l alerT
GLUTLGS siemmuiley (PERW Q&TaTe s LITFR &6 GMss RBLISS &HSHNS 2 (HeUTEHGUSNE 6THS SlemLnliL]
2 HUHEDS!?

A: Central Advisory Board of Education (CABE)
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S W Hevel 2LCTF6TE & (W (CABE)

B : District Institute of Education and training (DIET)
Wmall L sevell mmild UM Blmieuetid (DIET)
C: Ministry of Human Resource and Development (MHRD)
nevflgeler MM GIDLTL G SemINE&FsLID (MHRD)
D : National Council of Educational Research and Training (NCERT)
G5 W sevell QL IMLFR homid LuHS BloiaueTd (NCERT)
Case Study from Question No. 46 to Question No. 50

PASSAGE

Water and weight loss

Crash dieting takes the biggest toll on the water reserves in our body. Loss of water is one of the biggest issues in crash dieting and its associated 'guaranteed
weight loss'. Crash dieting which restricts nutrient and water intake leads to rapid water loss from your body. This on the weighing scale will show itself as
weight loss.

Thisg drop in body weight is not reduction of body fat but loss of all important water. Loss of water impairs circulation, reduces muscle bone, joint and bone
health and obviously overworks the kidney, heart and lungs. Yes, it will also lead to body odour because the composition of sweat changes.

Losing weight is no big deal, if you lose body water. Body builders and wrestless routinely adopt this practice. They bring their weight down by as much as 4
kilos on the day prior to a competition. This allows them to complete in a lower weight group and improves their chances of winning. But what do common
people like us gain by crash dieting.

LSS

B Hoib eremL @iy

&meq LWL 19 ml B 2 LedSev 2 6ier BT @ LIS &serle Waslauflw urGHliemu gHUGSSHMS!. SImeq Ll g mGHev Bi
@LoLiL IMHMID SIS 6T QSTLIL LW '2 SSTalMSInmeT el @LliL eufwenel WasLauflw Lrd& aerserfley
RETMHTGLD. 26T L FFS5 5 mmiD BT 2 L Q&meTarenevd &L GLUGSSID RTmeq Ll 1Q Mk 2 HigeT 2 Led6) @ hhl
allemgeumet B @LoLIL&E alfleu@GERmal. sTemL Wiadlefleh @& eTeml GLLUILIMEGS &meuor 16 &LILIHILD.

2 L6 eTemLWileT @b efbFRWMers 2 L6 Q&BMWLImLS GnMLILIS S6V6V, 3606V 3| 6M6TSH S (L0 &S WL TeoT
SevorerotemTWLh @LoliLigl. B @il @Uss @l LS5 UTHLIUSILET, Hen& aailbL, el (H) oHmILD eTelbL|

UCIMEHERH WSS WD GmMERMS! HmID AouBresd, @& WD WHb BenTuiTene AH &S LUTHERME. @S
aNlwFemeauuileir &evemal IDTMIAIGSTEV 2 L6V SITHTHMSEH MG euflel @ e @&LD.

BriIG6r 2_Lev Beng @LESTen, 2 L6V eTenl Gemnmealg Quiflu ellaquineen. 2 Louulm QFUILeFs6T InMmmID WSS
afyaer @b HemL (LPenmen eUP&HSLONS LNaTUMHMIRMTHSHET. CUML Y86 (LHSW BT HeUTHET &MhIG6ET eTenL_eml 4
FRCEVIT QUENT GMMERMTIEET. @& GOMIBS 6TenL Q& MevorL & Walleb CUMLIQUIL Si6aIT&H 66T ABIHER MG HMID
Qaumm QLMIEUSMHESTET aUTUILILS606T GIDLINS SR MS). SLE0TITEV &6 LUIL LG MBI eLN6eVLD HLOEmLOLT GLITedTm
FTLOM6oT W5 6585 (& 6T60TE0T GUITLILD ?

46 Which of the following is a consequence of water loss due to crash dieting ?

LNetraumelesraumnilev &Imeq Ll I BiGHev gHUBLD BT Gammeusmev L@ eNlenere] 61! ?

A: improved muscle bone
CLMSSLILLL Heng HesoremLn
B: better joint and bone health
FAbHS el B WMHMILD 6TeIDL] 3L,CI &S WD
C: overworked kidney, heart and lungs
55 Calemev QF I ABrsLDd, @ wid Wmmih BiemFuiyey
D: decreased body odour
2 L6V SIFBETMHDLD &eNME6L.
47 Why do bodybuilders and wrestlers lose water before competitions ?

2 1 6b WM QFWILIGUTS6T MHMID VWSS ST TH6T CUITL L& EHHE (LDETL]| &600T600r6n T @)LOLILIGI eF6dT?

A: To enhance muscle bone
S & Gevoremlnenl 95 & 55
B: to increase their strength
BHMHIG6T auedlemnen il HH &5
C: tocomplete in a lower weight category
&embs eTeml Lflaflev GUMLiquilL
D: toimprove cardiovascular health
ABSW CITER WSS CLLUGSS

48 What is one of the main issues with crash dieting ?
&rmeq LWL 1qBIRer WwesESHW Lrs& enerserfley ¢edrtmi ereoreor?

A itresults in permanent weight loss.
@8l BIThsT L GLLEES aflaGSER S
B: itcan lead to significant loss of water in the body.
@5 2 Led6h MU E566 BT QLLUILGS 6uLlelGEeESLD.

C: it improves circulation and joint health.
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88 Qs eL LI Hmib el G werméEswsams CibLGSSIS mS!.

D: it guarantees fat loss.

@8 Q&ETWUIY @YLILUSE 2 HSTMSLD 9aflsE&H M.

49 The term 'crash dieting' means
&HImeq LWL L9 MmI' 6T6TLIGI ©

A attempts to lose weight rapidly
GeUSBLDITE 2 L6V 6Te0L 60 G6MMES (DWMHF IS
B: frequent changes in diet
Q&G 2 600T6) (MU 6L LOITMH MG 6T
C: avoiding junk food
QBMWISSS HeollHaner Hailjhse
D: taking a healthy diet
2CITESR WILDTET 2 60016 2 L Q& MTeTal gl
50 What is the consequence of a drastic change the composition of sweat due to water loss ?

B @olifermev gmu@G D elwFeneuuilerr @emnwillev gmumid el nmHmESH 6T elemerne 6TedTeor?

A: increased body odour

SB&5S 2 L6 SFHTHOLD
B: decreased body odour

2 L6V SIFBETMHDLD &eNMEH6L.
C: rise in blood pressure

QIS5 WSS AP &S5
D: drop in blood pressure

QIS8 WSS GOMS6V
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